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\begin{tikzpicture}
tikz naredba [parametri](koordinate);
\end{tikzpicture}

���� ���
�� 
� � ���� 
��

� 	 ��
������� � 
�� 
�
�� 	 � ��	 �	 ����� � �	 �� �� � 	 �

���# ��9 � ���� ��
�������	 � 
��	 ���	 �
� �
����	 �� 	 
	 �

�����
	 � 	 ��
������� ��	 �
�	 �

�����
�  ! *�
!��

\begin{tikzpicture}[scale=1.7]
\draw[help lines] (-1,0) grid (3,2);
\draw[magenta,ultra thick,double]

(0,0)--(-1,2)--(2,0)--(0,0);
\node [below,darkgray] at (0,0) {$(0,0)$};

\end{tikzpicture}
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\begin{tikzpicture}[scale=1.7]
\draw[help lines] (-1,0) grid (3,2);
\draw[blue, line width=3.4pt, solid] (-1,0)

--(0,2)--(2,2)--(1,0)--(-1,0);
\node [below,darkgray] at (0,0) {$(0,0)$};
\end{tikzpicture}
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\begin{tikzpicture}
\path [draw=red,line width=1.6pt,

fill=none] circle (2.5);
\end{tikzpicture}
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\begin{tikzpicture}
\draw[dashed,line width=3pt,color=gray] (0,0)

arc (-90:90:0.5 and 1.5);
\draw[line width=3pt, blue] (0,0)--(4,0);
\draw[line width=3pt, green] (0,3)--(4,3);
\draw[line width=3pt, black] (0,0)

arc (270:90:0.5 and 1.5);
\draw[line width=3pt, magenta] (4,1.5)

ellipse (0.5 and 1.5);
\end{tikzpicture}

� �� ���
� �
�� �� 

� � � ���
� �

� 
�� 
���������

8 
	 2
� �
������ 	 
G = (V,E)���
� 
�V ��� 
	 �	 �

� ��� �
���	 �	 E � ��� �
����	 ��� 
������� � 	 V�	
� �	 ���
�� e �� E � � 	 
	 ��	 �
�	 �u�v �� V ��
���

���� �
	 
����� e�= 	 ���� � �	 � � �
����u�v �	 �	 ���
��������� �
���� e�� �������� ��� 
�����+
�
� ��
� 
��	 � �	 ��� �
�	 ����� � � ��� 	 �
�
�	 �= 	 ���� �

�	 
� �
	 2
����	 
	 �	 �� �� � � � ���
����
���	 ���

� ��� �
	 �
�	 �� � �	 ���
� �� 	 
���	 � �
�
� �� 
��	 �)

�	 � �	 ��� ���� � � 
��	 �	 ���
	 2��� ��
� � � � �	 �
�	 ��

� � 	 ����� 	 # ��9 �������
����� ���� � � � �	 ��� 
����

�������� �������� � �
� ��	 � 3	 ��� � � �� � ����

��
�������	 
���	 � 	 � 	 ���	 ������
���� #!A �����

� ���� �	 
� 
�
� � � 
�	 � �������
����
�� � ��4����
�

� 	 ���	 \usepackage{tkz-berge}� 1 �
�����
�

����	 
 ��
�� �� ���
�� � �	 
���� �	 �
�	 �
� �
	 4��

�� � �� ��� � 	 ���	 ������
�� 
� �	 � ��	 # ��9������ ���

��
��

����
� ���������� ���� 
� �
	 2�� ���	 ��Km,n� ���
�

�� � ��� �
���	 � ���� � ���
������	 ��	 � ��������

��� 
�����	 � ��� 	 �	 �� �	 
� � �	 ���
� �� 
����� � ���

� 	 � � �
��� 	 � �	 ��� �
��� �� �
���� � ��� 	 �	 ����	

�
�	 �� ����� � ��� 	 ���� � � �
��	 �
���� �

\begin{tikzpicture}
\draw[magenta, scale=2, ultra thick, double]

(0,0)--(-1,2)--(2,0)--(1,2)
--(0,0)--(3,2)--(2,0);

\node [below,darkgray] at (0,0) {$(0,0)$};
\end{tikzpicture}
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\begin{tikzpicture}
\GraphInit[vstyle=Art]
\SetGraphColor{brown}{blue}
\grLCF[Math,RA=7]{17, -9, 37, -37, 9, -17}{15}
\end{tikzpicture}
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\begin{tikzpicture}
\GraphInit[vstyle=Art]
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\SetGraphArtColor{blue}{red}
\grBalaban[form=3,RA=7,RB=6.5, RC=5.6,

RD=5.6,RE=4.6]
\end{tikzpicture}
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\begin{tikzpicture}
\GraphInit[vstyle=Art]
\SetGraphArtColor{yellow}{black}
\grAndrasfai[RA=l]{k}
\end{tikzpicture}
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\begin{tikzpicture}[scale=1]
\draw[blue, ultra thick] (1,1)--(2.5,5)--

(4,1)--(0.4,3.5)--(4.6,3.5)--(1,1)
--(0,-0.5)--(-1.5,4.5)--(0.4,3.5);

\draw[blue, ultra thick] (-1.5,4.5)
--(2.5,7.5)--(2.5,5);

\draw[blue, ultra thick] (2.5,7.5)--(6.5,4.5)
--(5,-0.5)--(0,-0.5);

\draw[blue, ultra thick](4.5,3.5)--(6.5,4.5);
\draw[blue, ultra thick](4,1)--(5,-0.5);

\end{tikzpicture}
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